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QUESTION 1

Which of the following statements is FALSE regarding SAPs? 

A. VPWS: SAPs can be defined on Ethernet, POS, Sonet/SDH, or TDM channels. 

B. VPWS: Two SAPs are defined for a service that originates and terminates on the same Nokia 7750 SR 

C. VPLS: More than two SAPs can be defined in a service. 

D. VPWS: SAPs are associated with an IP interface. 

Correct Answer: D 

 

QUESTION 2

Which of the following about the lsp-ping command on the Nokia 7750 SR is FALSE? 

A. An echo request is sent based on the LSP\\'s label stack. 

B. Echo reply packets may not take the same path as the LSP. 

C. The IP destination address is used to initiate echo requests. 

D. The test fails if the LSP is not operationally up. 

Correct Answer: C 

 

QUESTION 3

By default, what does a Nokia 7750 SR do to support VPLS services for different customers? 

A. Dedicates a separate port for each customer. 

B. Performs ARP look-ups for each service. 

C. Maintains a different IP routing table for each service. 

D. Maintains a different MAC Forwarding Database for each service. 

Correct Answer: D 

 

QUESTION 4

VPWS allows carriers to offer services such as point-to-point frame-relay, ATM, and Ethernet on a single platform
without the need for multiple overlay networks. 

A. TRUE 
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B. FALSE 

Correct Answer: A 

 

QUESTION 5

Which of the following about IES is FALSE? 

A. An IES provides a Layer 3 interface to a customer. 

B. A virtual routing/forwarding table is created per IES service. 

C. An IES supports QoS. 

D. An IES interface\\'s IP address, if bound to a port, will appear in the routing table. 

Correct Answer: B 
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